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This always happens in linear equations which have only y on one sxde This'means we
can graph the equation by plotting only one point and then using the slope to draw the line.
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. Look at the equa’uons on page 23. Did you notice that the slope of each graph appears
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The easiest point to plot is-the point whose x-coordinate is 0. You can see why by looking -

at the equation y =2x +5. When x =0, then y =5. So the pointis (0, 5).

This is the poin’[ where the graph crosses the y-axis. It is called the y-intercept. By just

looking at the equation we can see both the slope and the y-intercept.

slope

y-intercept
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Write the slope and the y-intercept of the graph for each equation.
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y-intercept

(-

y=2x— /
y = 3x - |
y=%x-4
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